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Summary:

Total utility: TU

Is the overall satisfaction that a consumer derives from the consumption of a particular good or
service? It’s calculated as the sum of marginal utility of each unit of good or service.

Marginal utility: MU

Is the additional satisfaction or benefits that a consumer derives from buying an additional unit of
commodity or service. It’s calculated as the change in total utility that results from consuming one
more unit of a good or service.

The law of diminishing utility states that the marginal utility decrease as the consumer consumes
more of good or service. This is because consumer’s needs are gradually met and they become less
satisfied with each additional unit.

The relationship between TU and MG:

There is negative relation; then when TU increase MG decrease.(max TU €=0 )

Consumer equilibrium:

Is a state in which a consumer maximizes their satisfaction from consuming goods and services,
given their budget and preferences.

Consumer equilibrium can be calculated by using a variety of methods, including:

e Graphical method: this method involves plotting the consumer’s indifference curve and
budget line on a graph. The consumer equilibrium is the point where the difference curve and
the budget line intersect.

e Algebraic method: this method involves setting up a system of equations to represent the
consumer’s indifference curve and budget line. The consumer equilibrium is the solution to
this system of equations.

e Numerical method: this method involves using a computer to simulate the consumer’s
decision—making process. The computer will try different combinations of goods and services
until it finds the combination that maximizes the consumer’s satisfaction, given their budget.

It is important to note that consumer equilibrium is a theoretical concept. In reality, consumer may not
always be able to achieve consumer equilibrium, due to factors such as limited information and

imperfect markets.



